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Do Now:

Find two functions f', g, and 4 such that (g o f o h)(x) = k(x)

l. k(x)=+2x-6-1 2. k(x)= !
3x+3



Continuing in yesterday’s packet...

4. State an equation of a line that contains the point whose coordinates are (2,—3) and is
parallel to the line whose equation is 2x+y—6=0.
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5. State an equation of a line that contains the point whose coordinates are (1,—2) and
perpendicular to the line whose equation is x+3y = 6.
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6. In 2009 Nike’s net sales were 19 billion, and in 2012 net sales were 24 billion.
(a) Write a linear equation giving the net sales y in terms of the year x.
(b) Use the equation to estimate the net sales for 2015.
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9. Graph y=3 &

10. Graph x=-2

11. What is the slope of the line y =3? O

12. What is the slope of the line x =-2? U“dej\\ﬂd




Write the equation of the line from graph and also write domain and range. Find x and y-
intercepts. Determine whether or not each is a function.
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L Iff(x)=x2+2x+5 and g(x) =x - 1, then f (g(x)) is

DM Renes @, C Bl eax-1 O [4] 21

P/X“‘): (X“'>Q+o7(x~’) +5 = )\Q—);(Hm?%-;?ﬂ’ =x% Yy

2. For which value of x i S ) =-65 given f(x)=-3x2-2x 9
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3. Which function is not one-to-one? P l\”ﬂ W -
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; [31 {©.1, (1,0), 2,3), 3,2} ~45=-3(-5)™a(-5)

[4] {©.1), (1,0), 2,0), 3,2)}

4. Which graph is not a function?
“ °

5. If the domain of @) =2x+1is {-2<x< 3}, which integer is not in the range?
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6. If f() =3 + 4and BD =T"7 ;. fo) = J1y =¥
~ 1] 13 o » What 1s the value of f(g(-3))?
7. Which equation does not represent a function?
- .
[1] y=2x C _

8. What is the inverse of the fﬁnction y=2x-37
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9. Given = x=4, find g[5]‘ 3(§> %'({ é,‘z 1
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[1] -5/3 ? 2] 518 “ 3] -185 C 4] 305
10. The function f(x)=3x-71is
2 [1] one-to-one, but not onto
& [2] onto, but not one-to-one
? [3] both one-to-one and onto
““ [4] neither one-to-one nor onto
11. The range of the function f () =(x+6) is
r‘.
© [1] All Reals [3] [6,%)
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